AH Practice Quiz Name: ﬂns\oar;.

0 1 A calorimeter containing 765 mL of water at 19.4°C shows the temperature rising to 27.0°C as 2.55 g of
iron burn in the presence of oxygen in the sample chamber. Find the energy released per mole of iron
burned. {Assume all the energy when into the water!)
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2. Use this table of bond energies to estimate the enthalpy of the following reaction.

&{q‘n: brokeam, - forme d j

= (6413 + 247 +234) ~(s13)t 247 )N

L Tl X

H H
—H + (el H———-l-—i-—u—CI + H =l
H H

J—g 3G+ 42%
. 23064 -517¥ Bond Enthalpy (kJ/mol)

- C—H 413

éHrky\- LY 13 cc e
Ci—Cl 239

H-CI 427

c-C1 339

3 Find the AHn involved in reacting nitrogen gas with carbon dioxide gas to produce nitrogen dioxide gas and
carbon{graphite) (just Cy).

Is this reaction an exothermic or endothermic process? (using the blue table of AH%)

N+ QW, -5 AW0, + 2C

abh = products ~reschant—s
=( 2(33.9) +0) - (O + 2(-373.5)
= GRY- (-787.0)

Al =TESL.8 K mol ENDOTHERMC

. 4. Find AHr for acetic acid, CH3COOH, using the following thermochemical data.

2Cs +2Hzm + 02 =2 CH3COOH g AH=7?

W CH3COOH (3 +2 025 > 2C0O2(g) + 2 H20 ¢y AH = -875. kJ/mol
/?

2x ((Co+02 - CO2gg AH = -394.5 k/mol )
2y (H@+1209 > H00 AH = -285.8 k/mol )
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